M eyt A0 gy ARY 2B aLad)

_ pol) Azaly
Oieb a3 U A
LR ESt] Aidla gyl 9 A0 galh VY <ol

A rdladall das
Todtnfele malall slall (Badinadl cilobudl pUal) (LAu A Juad)dallil) ol jall Juabll ¢lasial
A« Choose the correct answer. (30 degrees)

1-What is the 3". person, plural, imperfect, active, indicative of the verb "to
be"?

a) hoBa, b)tjte c) v d) Nothing

2- What part of speech is this "dya@6c" ?

2) noun b) adjective ¢) verb d) Nothing

3- The verb "Gy MEAMS..coreereanraonse

a) I send b) I carry c)llead  d) Nothing

4- What's temse of the verb "Emoidebougy "? -

a) Imperfect b) Aorist c) Present d) Nothing

5- What's mood of the verb "Abooveuv)"? :

a) Imperfect b) imperative ¢) indicative d) Nothing

6- What is the 3. person, plural, Aorist, active, indicative of the verb
"oose"?

a) é\ooarte b) EAvcow c) éhdete d) Nothing
7- What is the dative, singular of the noun "Wuth"? »

ayeovig. - b) BAEvM c) pelyere - d) Nothing
8- What's the temse of the verb "Eyw"? ‘

a) Infinitive b) Indicative c) Imperative - d) Nothing

9- What is the Genitive, singular of the noun "brother™?

a) TOV &delpov b) tolg &SeADOlg  c) Tob &dehpot d) Nothing
10- What is the Genitive, plural of the article "0"?

a) 100 b) T@V ¢) TOVG d) Nothing

B- Translate and parse the underlined word. (30 degrees)
1- o1 moATTon EAevBepol gloiy.

2- o1 veawion ESovlevov Toig dryaBols kplToilc.

3- b veavioc otparttyds fv Tig oTpoaTide.

A- EAVOV TAC 1@V BobAwY Kl TAY oty TESAC,

5- 1 kot vooog Emave THY pdymy.
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